Su

it
:.q--._
-!_\.{
[

)
‘\.“ I
‘-‘1-.
1541
1 i
:.‘.__._sqhm“
Ht
"

il

1] tm ¢

i i i

HI T

) Ihe

1] AT
]

H)

HiLH

it y g
o HTH BT
P :::::.
..:2. T :uq\
\__:._::... ]
-.-_::-. 1
‘s.-: L
]
i

1
__‘._P.. 1l
HH t it
i
i
(i -uu.

i
i
L
Ii ‘“‘- ‘- s i
H
__aw. it

1

Mt..:
b 1 [t
i
i HI {
_._e_\.“‘..m...u_é..ﬁ...“....
:..:::“:..:_.. i
M ..t-q-_x\h.-
_:.: "
fred i

iafieett]

\
H1H] i
M
i i
[ iH _-:—- | ] ]
.‘._h m“‘““.‘“‘.._ M:_v.___.:k T
.:_..- ' ._._:.... [} ‘H
‘n. HH 1 L. HiH 1
i i i)
it i m.“...‘,.“_:,.“..‘.. il
ool ; _:-_:: ! 1 [}
fitifl) ﬁ_.“.-“?.“nn.._h:__q_ i
.L_. x:_:_n _Mm Hi t1i Wi 2.:.
i it .«“n._“.__-n“:. HiH I
et it
ik i ( HHT
ik HH il
i
“‘ \s.:‘
)
4

‘“-h. 114
It
St
\ | 4 __““1-
i i
[} il
(]

1
i}
i hh“:
i
s m\.

i LI
HHE
(b ! 11 i
h__.:.\.:
e
T
sseetil
.....1‘,
o hondt
1

it
bt
.::.-
B

1
i
.“‘\-1\_-\‘
.—\w‘—-‘\:
.:-‘\‘.-- i
\ il "
{IH
LT
i
.m_-_-‘:
dHTH
1
i 1}
4

Mod
-3

E

Sllperior

RE
CR
EA

-
ONAL PR

oD

uc

TS

AP
|AYCORE
e
pany

P
age 10f9

3
/24/2020



HARDWARE

5/16" x 1"
Machine Bolt

5/16" Washer

5/16" Kep Nut

Superior

RECREATIONAL PRODUCTS

4 [P|AYCORE company

3/24/2020 Page 2 of 9



PRODUCT SPECIFICATIONS

T460CT-3
46” PORTABLE OCTAGON TABLE WITH 3 SEATS

Top & Seats: The understructure/attachment plates are fabricated from 7 gauge x 1-1/2” flat bar. Top is additionally supported to the outer
frame with 7 gauge x 1-1/2” flat bar. Electrically MIG welded.

Coating: Oven fused functionalized polyethylene copolymer-based thermoplastic.
Fluidized bed coating application with superior mechanical performance,
impact resistance and UV-stability.

Frame: 1-5/8” O.D. x 14 gauge pre-galvanized structural steel tubing. Brace attachment points are 1-1/2"x2”x3/16” steel flat bar. Cross
braces 1" O.D. x 16 gauge pre-galvanized structural steel tubing. Top is attached with 7 gauge 2"x2” die formed angle. Seat mounting
points are 7 gauge x 1-1/2” die stamped steel flat bar. Legs are bent over a mandrel through the bend radius producing a wrinkle free
bend. Holes are predrilled in legs for optional surface mounting. All electrically MIG welded.

Frame Coating: Electrostatic powder coated application oven cured.
Hardware: All stainless steel hardware fasteners.

Dimensions: Top is 46” square x 30-7/16” high. Seats are 10” wide x 36” long x 18” high. Outside to outside dimensions of 3 seat table is
61-11/16" x 77-5/16".

Superior

RECREATIONAL PRODUCTS
2 P AYCORE company

3/24/2020 Page 3 of 9



COMPONENTS

ITEM NO.

PartNo

DESCRIPTION

1

T-ORC46-T

46" Octagon Regal Expanded Top

P-V358-L

358 Vinyl Leg L

P-V358-R

358 Vinyl Leg R

P-01-04-0121

358 Extension Tab

33-02-0007

5/16" SS Washer

33-05-0029

5/16" x 1" Machine Bolt (SS)

33-03-0012

5/16" Kep Nut (SS)

RC36-S

3'long x 10" wide regal expanded seat

({2 e o T BN I o> T IN@ 2 N BN S BN GO I I NS ]

P-01-04-0122

358 Crossbrace w/ Umbrella Tube

P-01-04-0440

358 Vinyl Leg LH

3/24/2020

P-01-04-0441

358 Vinyl Leg RH

Superior

RECREATIONAL PRODUCTS

2 PLAYCORE comasny

Page 4 of 9



| &%

v (OO
L) u'-o.-‘-o-_ -1'- 4

/ .......m..—...—.. o
Soee O
....—.........4 W
\

O A O
....:.:.:.:.:.:::..:.:..
OO :::::::...
::4::::::4::
S .............._: R O
SRR,
OO
OO TR0
WO ._:::::
.._,..........: . S Y
J_....__ Wi

AW
R ST

Ly
1) Oy
TR

OO
RO
Aol

R
[

..:.

\
—..-n
AR
........................1_ NN )
....::.:..:..::.:::
N ::::._.:.:.
o—o‘ono-.oc----.
A O
.-.o—~ i L)
D
Wl Y

)
)

| .._..r......
At
AN
T
LA N
RO
NS QNS
....._......_......................... i _.............._....._....._....._..............._........
—'._——-....,_-.o--.—...A R en TONMAEY (A
...___._.................. o, SN QL DONY
., NS R X

! A LU
....._..._......... ..._-..—.............._....... G
OB R

Y X

LA

\ ._o-.r.

// Y /

OO
SR
X
Dy
......:....: OO0
W,
iy
SN
f.f!.!

¥
’4

A

...............
R
ALY

LY
A
A

Fan
L)

ied hardware.

6"
to the 4

h the Extension Tabs

été?acgon Top us

L -f-._g-..”.._ .. .-_..,m.-_..
:.::::.:.:
:....................... W YOO i

3 T
A
R o ...........-...._.........
AN iy
RN o OO
o ) \

(0

..:
A
)

Cer
i
RN
N ”...m.............'...».:
.o—f.&.::.. AL \ o.’.

\ .:.::.:::
MR

A
)
o

AR -d.d-.--
AXTN

R D
Tl

A0 X --Nm-—ﬂ-ocﬁ
! ...........,........
A0
W

0
\
o
)

_..,......._...........
RO
,.:...::..
::.:.:.:
PRI '
,—.........................
AN Y

:..::...._
Y
(AN
WA

XXV

N

_
i
o .......................—....
RRRRNIA 0N
QNS \
R \
AR, N
AR
AR
(A

\RH

o
RO
RO
SO

e
BRI
SN

i
L
==

N

S

7S
opuc
REATIONAL PR
REC

ompany
# PLAYCORE com»

Page 5 of 9

3/24/2020



Attach the Legs to the Extension Tabs using specified hardware.

Superior

RECREATIONAL PRODUCTS

2 PLAYCORE comasny

3/24/2020 Page 6 of 9



N e \..
H 1
’ - “-.-h\-

‘......‘.._.a
:_}
|
.
.«m 5
“.: h_._“ “ “ Y
NM“-,&“.. ?‘_....A‘...““ .a..m......__“ } “.
“..a x.... .\.. h......\
i : Jiiat

-.mmq.w. T r\-

i

_.. .‘M
-__ .___
HiHt LTI ‘.: ‘..
:...,““.“““ m,n.., i i
__ _. i
“. 1 .u.-. _“
.thh.h. ..“.-w ¥ :. m_“&.“ n“ m. .
St _: :
i G “.w,... .
I

:.,,E “__.

.: " esfieet

Attach the Crossbrace between the table legs as shown using specified hardware.

Superior

RECREATIONAL PRODUCTS

& [P AYCORE company

Page 7 of 9

3/24/2020



Attach the 3' Seats to the Legs using specified hardware.

Superior

RECREATIONAL PRODUCTS

2 PLAYCORE comasny

3/24/2020 Page 8 of 9



3/24/2020

-~ 611116 ————————————=

OVERALL DIMENSIONS

30 7/16"

77 5/16"

46 1/16"

Superior

RECREATIONAL PRODUCTS

& [P AYCORE company

Page 9 of 9



